

⑥ (a) If $z \{x(n)\} = X(z)$, Then Prove that

$$z \{nx(n)\} = -z \frac{dX(z)}{dz}$$

Soln.

We have

$$z \{x(n)\} = X(z)$$

i.e. $X(z) = \sum_{n=0}^{\infty} x(n) \cdot z^{-n}$ — (1)

Differentiating w.r.t z , we get

$$\frac{d}{dz} X(z) = - \sum_{n=0}^{\infty} nx(n) z^{-n-1}$$
 — (2)

Now, we have

$$z \{nx(n)\} = \sum_{n=0}^{\infty} nx(n) z^{-n}$$

$$= \sum_{n=0}^{\infty} nx(n) \cdot \frac{z \cdot z^{-n-1}}{z} \rightarrow z \text{ multiply \& divide}$$

$$= -z \left[- \sum_{n=0}^{\infty} nx(n) z^{-n-1} \right]$$

$$= -z \frac{d}{dz} X(z) \quad [\text{from (2)}]$$

Hence, $z \{nx(n)\} = -z \frac{d}{dz} X(z)$ Prove.

17

⑥ (b) A discrete time signal is expressed as $x[n] = n^2 u[n]$

Determine its z -Transform.

Soln.

We have

$$x[n] = n^2 u[n] \quad \text{--- (1)}$$

$$\therefore x[n+1] = (n+1)^2 u[n] \quad \text{--- (2)}$$

$$x[n+1] - x[n] = \{(n+1)^2 - n^2\} u[n] = (2n+1) u[n] \quad \text{--- (3)}$$

from (2) to (1)

②

Now, $z[x(n+1) - x(n)] = z[x(2) - x(0)] - x(2)$

$\therefore x(0) = 0$

$\therefore z[x(n+1) - x(n)] = (z-1)x(z) \quad \text{--- (4)}$

from (3)

$$z[x(n+1) - x(n)] = z[(2n+1)u(n)]$$

$$= 2z[nu(n)] + z[u(n)]$$

$$= \frac{2z}{(z-1)^2} + \frac{z}{z-1}$$

$$= \frac{2z + z(z-1)}{(z-1)^2}$$

$$= \frac{2z + z^2 - z}{(z-1)^2}$$

$$\therefore z[x(n+1) - x(n)] = \frac{z(2+z-1)}{(z-1)^2} \quad \text{--- (5)}$$

from (4) & (5) $\therefore \frac{z(z+1)}{(z-1)^2} \quad \text{--- (5)}$

~~(x-1)~~ $(z-1)x(z) = \frac{z(z+1)}{(z-1)^2}$

$$x(z) = \frac{z(z+1)}{(z-1)^3}$$

Here $\boxed{z[x(n)] = \frac{z(z+1)}{(z-1)^3}}$

18

2. 9 If $Z[f(t)] = F(z)$, then Prove that

$$Z[t f(t)] = -Tz \frac{d}{dz} F(z)$$

Soln. Given $Z[f(t)] = F(z)$

$$F(z) = \sum_{n=0}^{\infty} f(nT) z^{-n} \quad \text{--- (1)}$$

Now, differentiating w.r. to z

$$\frac{d}{dz} F(z) = \frac{d}{dz} \sum_{n=0}^{\infty} f(nT) z^{-n}$$

$$= \sum_{n=0}^{\infty} f(nT) \frac{d}{dz} (z^{-n})$$

not multiply solution

$$\frac{d}{dz} F(z) = - \sum_{n=0}^{\infty} n f(nT) z^{-n-1} \quad \text{--- (11)}$$

Now, we have to prove

$$Z[t f(t)] = -Tz \frac{d}{dz} F(z)$$

Here,

$$Z[t f(t)] = \sum_{n=0}^{\infty} (nT) f(nT) z^{-n} \quad \text{--- due to ramp function}$$

$$= T \sum_{n=0}^{\infty} n f(nT) z^{-n} \quad \text{--- constant term out side}$$

$$= Tz \sum_{n=0}^{\infty} n f(nT) z^{-n-1} \quad \text{--- multiply and divide}$$

$$= -Tz \left[\sum_{n=0}^{\infty} n f(nT) z^{-n-1} \right]$$

Now, using (11), we get

$$\boxed{Z[t f(t)] = -Tz \frac{d}{dz} F(z)} \quad \text{Proved}$$

(a) (b) Initial value theorem for Z-Transform.

According to the initial value theorem for Z-Transform

$$f(0) = \lim_{s \rightarrow \infty} F(z)$$

Proof. We know that

$$f(z) = \sum_{n=0}^{\infty} f(nT) z^{-n}$$

$$f(z) = f(0) + f(T)z^{-1} + f(2T)z^{-2} + \dots \quad (1)$$

Now, clearly if we put limit $z \rightarrow \infty$ on the both right hand side of (1), we will get $f(0)$

(1) Hence
$$f(0) = \lim_{s \rightarrow \infty} F(z)$$

Final value theorem of z-transform method

$$\lim_{k \rightarrow \infty} f(k) = f(\infty) = \lim_{z \rightarrow 1} (z-1) F(z)$$

Proof, we know that for a causal signal

$$z [f(k)] = F(z) = \sum_{k=0}^{\infty} f(k) z^{-k} \quad \text{--- (1)}$$

$$z [f(k+1)] = z F(z) - z f(0) = \sum_{k=0}^{\infty} (k+1) z^{-k} \quad \text{--- (2)}$$

from eqⁿ (2) - eqⁿ (1)

$$z F(z) - z f(0) - F(z) = \sum_{k=0}^{\infty} (f(k+1) z^{-k}) - \sum_{k=0}^{\infty} f(k) z^{-k}$$

$$(z-1) F(z) - z f(0) = \sum_{k=0}^{\infty} [f(k+1) - f(k)] z^{-k}$$

$$(z-1) F(z) - z f(0) = [f(1) - f(0)] z^{-0} + [f(2) - f(1)] z^{-1} + [f(3) - f(2)] z^{-2} + \dots$$

taking limit $z \rightarrow 1$ on both sides

$$\lim_{z \rightarrow 1} (z-1) F(z) - z f(0) = \cancel{f(1)} - f(0) + \cancel{f(2)} - \cancel{f(1)} + \cancel{f(3)} - \cancel{f(2)} + \dots + \cancel{f(\infty)} - \cancel{f(\infty)}$$

$$\lim_{z \rightarrow 1} (z-1) F(z) - z f(0) = -\cancel{f(0)} + f(\infty)$$

$z \rightarrow 1$

$$\lim_{z \rightarrow 1} (z-1) F(z) = f(\infty)$$

$z \rightarrow 1$

$$\boxed{f(\infty) = \lim_{z \rightarrow 1} (z-1) F(z)}$$